PNEUMATISKA MONTERINGSVERKTYG

Pneumatiskt verktyg for montering av insatsgangor.

™

]

VERKSTAD




METRIC

UNC - UNF

™
]

VERKSTAD

@ and
nominal
pitch

CODE
FILTEC* Spindle

CODE
LOCKFIL* Spindle

@ and
nominal
pitch

CODE
LOCKFIL* Spindle

M2x0,40
M 2,5 x 0,45
M4x0,70
M5x0,80
M6 x 1,00
M7x1,00
M8 x 1,00
M8x1,25
M9x1,25
M 10 x 1,00
M10x 1,25
M 10x 1,50

M 11 x 1,50
M 12 x 1,00
M12x 1,25
M 12 x 1,50
M 12 x 1,75

M 14 x 1,50
M 14 x 2,00

M 16 x 2,00

M 18 x 2,00
M 18 x 2,50

M 20 x 2,00
M 20 x 2,50

M 22 x 2,00
M 22 x 2,50

194 02 40 00 00
194 02 45 00 00
194 04 70 00 00
194 05 80 00 00
194 06 01 00 00
194 07 01 00 00
194 08 01 00 00
194 08 02 00 00
194 09 02 00 00
194 10 01 00 00
194 10 02 00 00
194 10 03 00 00

194 11 03 00 00
194 12 01 00 00
194 12 02 00 00
194 12 03 00 00
194 12 04 00 00

194 14 03 00 00
194 14 05 00 00

194 16 05 00 00

194 18 05 00 00
194 18 06 00 00

194 20 05 00 00
194 20 06 00 00

194 22 05 00 00
194 22 06 00 00

198 02 40 00 00
198 02 45 00 00
198 04 70 00 00
198 05 80 00 00
198 06 01 00 00

198 08 02 00 00

198 10 03 00 00

198 12 04 00 00

198 14 05 00 00

198 16 05 00 00

194 20 06 00 00

UNC

2-56
4 - 40
6-32
8-32
10 - 24
1/4 - 20
5/16 - 18
3/8-16
7/16 - 14
1/2-13
9/16 - 12
5/8 - 11
3/4-10
7/8 -9

196 14 03 00 00
196 15 10 00 00
196 17 10 00 00
196 19 10 00 00
196 21 10 00 00
196 23 20 00 00
196 25 20 00 00
196 27 30 00 00
196 29 30 00 00
196 31 40 00 00
196 33 40 00 00
196 35 40 00 00
196 37 50 00 00
196 39 50 00 00

UNF

6-40

8-36

10 - 32
1/4 - 28
5/16 - 24
3/8 -24
7/16 -20
1/2 - 20
9/16 - 18
5/8 - 18
3/4-16
7/8 - 14

196 16 10 00 00
196 18 10 00 00
196 20 10 00 00
196 24 20 00 00
196 26 20 00 00
196 28 30 00 00
196 30 30 00 00
196 32 40 00 00
196 34 40 00 00
196 36 40 00 00
196 38 50 00 00
196 40 50 00 00

SID. 2




